Efficiency vs P,

- 0.7 : .
Q : : :

N0 N0[c) SERRRRPRPRPY PRPPPPPRPPPR FRPPPPPRRPREE R RRRE
> H . .

SN0 J01:) SRRERRRRRRRE FRPRPRPRPRR P RRRREE e
] : : :

Q.07 -wrrermmmrinnnnnnnnnnes (RRPPPPPPPRRS R RREE
0.0BF-+++++fp-iseeeeeenns RS e
0.05 EAERUISTRRRY e o
0.04 : :
0.03 (e PP e
0.02
0.0} RS, 1A L 2% 11 o EERE PR

e

10 . Gedf’

MKEIL_TT1originar
mkFit_TTNEWnoMS-genMatch-CUT2
mkFit_TToriginal-106

mkFit TTNEWMS-genMatch-CUT2

»
>
>
9]
50.08

0.09

cle

£0.07
0.06
0.05]
0.04
0.03
0.02
0.0

Vel

et

.............

Ratio
N

o
©
a

[T
N
o
-
N
w

TP N

Efficiency vs ¢

£0.05
0
2.045
2
$0.04
(5]
$.035
(9]

TITI T[T T T

TP @



	Contents
	Page 1


